Trig 4.1

Determine roots of polynomial equations * *Algebra2 Ch. 5 & Ch. 7
Apply the fundamental theorem of algebra (# of roots) *
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State the degree and leading coefficient of each polynomial.
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Determine whether each number is a rddt of x3 — 5x2 — 3x — 18 = 0. Explain.
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Write a polynomial equation of least degree for each set of roots. Does the
equation have an odd or even degree? How many times does the graph of the
related function cross the x-axis? (»
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State the number of complex roots of each equation. Then find the roots and

graph the related functions. le 2~ :
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14. Geometry A cylinder is inscribed in a sphere with a radius
of 6 units as shown.

a. Write a function that models the volume of the
cylinder in terms of x. (Hint: The volume of a
*
cylinder equals mr<h.)

b. Write this function as a polynomial function.
c. Find the volume of the cylinder if x = 4.
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- Exact answer (in terms of 1)
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